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Precalc 5.1B:Using Identities
Obj: To apply the fundamental trig identities to simplify trig
expressions;
Hwk: 5.1B #45 - 63 odd, Check answers!!!
Finish 5.1B Simplifying Trig Expressions worksheet

Do Now:
Simplify the following expression:
1. cosxtanx 2. ﬂ = —CLf' = 4
GosX ¥ Mythag. Tdentity - [tane
1+ cot20= €5¢%6
Cot29= CsC20-
3. cschotand+secd 4. sinxcotx
L .sipd 4+ sec SipX . €oSX - |cosx
Sind Coséd o S pX
4+ 4 Sec = Sech + secod
fwso T 5 ©
=|2secod

5. tanXx cosx secx

_ SInX. epsX. L

Co /5/,( CosSX

v

SinX - |[tanx
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Recap:
Basic ideas: ***Have your formulas out when doing cw/hw!***
1. Look for identities with same functions and substitute
2. Factor if possible
a. 6CF b. perfect squares
c. difference of squares d. trinomials > (  )( )
3. Rewrite in terms of sine and cosine if possible
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Think back.........

Factor the following:
9-y?
(3+9)(3-Y)
x> —2x° —4x +8
X2(X-2) -4 (X -2)

(X2 -4)(X-2)
(X+2 ) K-2)( X-2)

4x* —12x°?
(X%*-3)

Simplifying Trig Expressions using Factoring

1) sin0cos? 0 +sin*0 GCF!
Sint8 ( 0s*H +Sin*6)

= 5in*6 (1)

= |15,n%*0

2) cscx +cot? x cscx
=¢seX (14 Cot%x)

= (5¢ X (C5e*X)
= csc.3>(

3) cot*y +2cot’y+1 # FACToE- THh TR1howial

-

—
-

((ot?y +1) (Cot?y t1)
(csety )(¢s5¢?y)
ese 7y
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Simplifying Trig Expressions using Factoring

gAcR
4) C:.Q_S:'_L. - |"5jnzd
l-sina  1=-Sine (IS
- (143ine)lI-Sinx)
(1 -3
= |14+ siner

6) sec® x —sec® x —secx +1

= Sec2x(secXx-1) -1 (Secx-1)

X (5“_2 x-1) (Secx -1)
= (1an 2X) (Secx-0

¥ Pythag. Tdentity
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(1-5inG) 1 1

N _(1+5inB)
wl+sing 1-sinp (#3506

= 1-5nk | 4+ 5inG
C1-5in8)(1+5in8) C1-5inB)(1+5inb)

= |-SinB+1+351NB _ 2

C1-5in8) 1+s5in)  “1=35in*B

Foe
= 2 2-1=—c|25ec28
*,coSﬂ '
_1+cosx  sinx sinx

Ll*fosﬂ sinx 1+cosx s;px

_(14CosX) C14CoSX)  5)n2 X
T ClHCosX) (SinX)  C 11CosX) (Sinx)

SintX

= |4 Cosx+coSy+Cos™X |
Cl$Cosx) (5inX)

T C1+CosX) (5in)

= | + 2CosX+Co0S: X+ Sin%X
Cl+CosxX) (SinXk)

= |[+2065X | _ 2€oSXxt2
CLECoSX) €SI CL+Cosx) (51nX)

= 20Cs¥) | 9.4
(05X 1. 23 =205

ClEcesX) (51nX)



Your turn........

Simplify the expression:
2
8) ¢ ilat 9) (cosB—sinB)2
secO-1 .
) = (Cosp -5ine) ( cosB-3inB)
0-I
= (i«m R = Cos2p -2 5i0BCos8 +5in™> B
} (Sece~)) Ll
= |/ -231nBCosB
Seco+ |

saving journal files Page 6




